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1. The area of the surface generated by rotating about the x-axis the curve y = 2
√
x

from x = 0 to x = 8 is equal to:

(a)
216π

3
(b) 104π

(c) 64π2

(d)
103π

2

(e)
208π

3

2. The base of a solid is a circle of radius 4 and center at the origin. If every cross
section perpendicular to the y-axis is a square, then the volume of the solid is equal
to:

(a)
1024

3

(b)
64

3

(c)
512

3

(d)
128

3

(e)
32

3



3. The length of the arc of the curve x = 2et, y =
1

2
e2t − t from t = 0 to t = 1 is equal

to:

(a) 1

(b)
1

2
(e2 + 1)

(c)
1

2
(e2 + e− 1)

(d)
3

2

(e)
1

2
(e− 1)

4. If the region bounded by y = x4, x = 1, and the x-axis is revolved about the y-axis,
then the volume of the resulting solid is equal to:

(a)
2π

3

(b)
4π

3

(c)
π

15

(d)
π

5

(e)
π

3
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5. The region bounded by
√
x +

√
y = 1 and x + y = 1 is revolved about the x-axis.

Using the shell method, the volume generated is given by:

(a)

∫ 1

0

2πy[(1− y)2 − (1−√
y)2] dy

(b)

∫ 1

0

2πy[(1−√
y)2 − (1− y)] dy

(c)

∫ 1

0

π[(1− x)2 − (1−
√
x)2] dx

(d)

∫ 1

0

π[(1−
√
x)2 − (1− x)2] dx

(e)

∫ 1

0

2πy[(1− y)− (1−√
y)2] dy

6. The graph of the curve y + x = y3 + x3 is symmetric about the:

(a) x-axis, y-axis and the origin.

(b) x-axis, y-axis and y = x.

(c) x-axis and y-axis.

(d) x-axis and y = x.

(e) origin and y = x.
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7. The region bounded by y = x3, y = 0, and x = 1 is rotated about the line x = 2.
The volume generated is equal to:

(a)
3

5

(b)
3π

5
(c) 3π

(d)
3π

10

(e)
3π

20

8. The region bounded by y =
1

x2/5
and the x-axis, 1 ≤ x ≤ 2, is revolved about the

x-axis. The volume of the solid generated is equal to:

(a) (5π)21/5

(b) 2π(51/2 − 1)

(c) 5π(21/5 − 1)

(d) 3
√
π

(e)
2π

5
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9. The arc length of the curve x =
y3

3
+

1

4y
from y = 1 to y = 3 is equal to:

(a)
5

21

(b)
53

6

(c)
56

3

(d)
6

53

(e)
35

6

10. If the area bounded by x = y2 and x− y = 2 is revolved about the line x = 4, then
the volume of the solid generated is given by:

(a) 2π

∫ 4

1

(4− x)(
√
x− x+ 2) dx

(b) π

∫ 2

−1

(2− y2 + y)2 dy

(c) π

∫ 2

−1

(y2 − 2 + y)2 dy

(d) π

∫ 2

−1

[(4− y2)2 − (2− y)2] dy

(e) 2π

∫ 4

1

(4− x)(x− 2−
√
x) dx
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